To see if the Town will vote to raise and appropriate a sum of money for the purchase of a fire engine for the Fire Department; to determine whether is appropriation shall be raised by borrowing or otherwise; or to take any other action thereto.

MOTION

Voted to recommend that \$695,000.00 be appropriated for the purchase of a fire engine for the Fire Department in the Town, including payments of costs incidental or related thereto; that to meet this appropriation the Treasurer with the approval of the Board of Selectmen is authorized to borrow \$695,000.00 under G.L. c44 s7(1) or any other enabling authority; that the Town Manager is individually authorized to contract for and expend any federal or state aid available for the purchase; and that the Town Manager is authorized to take any other action necessary or convenient to carry out the project. Any premium received by the Town upon the sale of any bonds or notes approved by this vote, less any premium applied to the payment of the costs of issuance of such bonds or notes, may be applied to the payment of costs approved by this vote in accordance with Chapter 44, Section 20 of the General Laws, thereby reducing the amount authorized to be borrowed to pay such costs by a like amount.



MINUTEMAN FIRE & RESCUE APPARATUS, INC.

2181 Providence Highway * Walpole, MA 02081 508.668.3112 * www.MinutemanTrucks.com * 800.225.4808

Chief Michael c. Newbury Saugus Fire Department 27 Hamilton Street Saugus, Massachusetts 01906

Dear Chief Newbury:

Enclosed are three (3) copies of a specification for a Pierce® 1250 G.P.M. Pumper built on an Enforcer® chassis. This specification was developed from your previous apparatus and our recent meeting on March 3rd. There are many updates and changes that have been made since your previous purchase.

I encourage you to review this specification carefully, as it not only represents your expectations and goals, but how the apparatus is to be constructed. We realize that this is only a preliminary specification and that changes can be made at any time based on your request. After you have reviewed this specification I welcome the opportunity to meet with you, as well as members of the truck committee, to discuss this document in depth.

At the present time the cost for this apparatus as specified in the attached document would be approximately \$625,000 to 628,000.00. This price would be valid until August of 2017. This price does not reflect any changes that may be made which may increase or decrease the total acquisition cost. The price does not include any progress payment discounts that are available to the Town.

We thank you for your interest in Pierce® apparatus and look forward to working with your Department as this project progresses.

Cordially,

Jeffrey P. Fournier





FIRE TECH & SAFETY OF NEW ENGLAND, INC. 90 Progress Avenue Tyngsborough, MA 01879 1-800-256-8700 Fax (978) 649-6833

Quote

Date	Quote #		
5/4/2017	4638		

Name / Address

SAUGUS FIRE DEPT-MA FIRE HEADQUARTERS 27 HAMILTON STREET SAUGUS, MA 01906



		Project	Terms	Rep
			MA BID_FIR 04	КК
Qty	Description	A	Unit Price	Total
10	KOCHEK 4" X 100' LDH HOSE COUPLED 4" STORZ	NE 465.00	4,650.00	
1	KOCHEK 4" X 50' LDH HOSE COUPLED 4" STORZ		315.00	315.00
1	KOCHEK 4" X 25' LDH HOSE COUPLED 4" STORZ		250.00	250.00
20	NAFHC 1.75" X 50' YELLOW POLY-FLOW HOSE CO SPECIFY COLOR	145.00	2,900.00	
20	NAFHC 2.50" X 50' YELLOW POLY-FLOW HOSE CO	195.00 1,550.00	3,900.00 3,100.00	
2		TASK FORCE BALL INTAKE 4" STORZ X 6" N.S.T. (F) SWIVEL		
4	TASK FORCE METRO 1 1-3/4 NOZZLE W/GRIP 1	50GPM @100PSI	696.00	2,784.00
1	TASK FORCE TIPS -FOAM ATTACHMENT	335.00	335.00	
1	TASK FORCE METRO 2 PLAYPIPE, 2.5" NH ADJU	1,060.00	1,060.00	
1	TASK FORCE TIPS-2 1/2" N.S.T. PLAYPIPE W/VALV		695.00 110.00	695.00 110.00
1		TASK FORCE TIPS-STACKED TIP, 1.5" NST FOR ABOVE PLAYPIPE		
2	KOCHEK-ADJ HYDRANT WRENCH, SINGLE HEAD		35.00	70.0
1	KOCHEK-HOLDER WITH FOUR (4) STORZ SPANNE		108.00	108.0
1	KOCHEK-HOLDER WITH TWO (2) KO1 SPANNER V	VRENCH	74.00	74.0
4	KOCHEK-UNIVERSAL SPANNER		16.00	64.0
2 2 2 2	KOCHEK-2 1/2" NST F X 1 1/2" NST M	According to the Control of the Cont	24.00	48.0
2	KOCHEK-1 1/2" NST F X 1 1/2" NST F ADAPTER DO		28.00	56.0
2	KOCHEK-2 1/2" NST F X 2 1/2" NST F DOUBLE FEM		38.00	76.0
2	KOCHEK-1 1/2" NST M X 1 1/2" NST M ADAPTER DO		15.00	30.0
2	KOCHEK-2 1/2" NST X 2 1/2" NST DOUBLE MALE AI		23.00	46.0
100	KOCHEK 4" STORZ X 2 1/2" NST MALE RIGID ADAP	TER	127.00	127.0
1	KOCHEK 4" STORZ X 2 1/2" NST F ADAPTER		117.00	117.0
1	KOCHEK STRAIGHT GATE W/CRANK HANDLE, 2.5'	' NH F X 2.5" NH M	280.00	280.0
1	KOCHEK GATE VALVE HYDRANT X 4" STORZ		769.00	769.0
1	R & B HYDRANT BAG		95.00	95.0
1	FIRE HOOKS-FLAT HEAD AXE FIBERGLASS		50.00	50.00
1	FIRE HOOKS-PICK HEAD AXE FIBERGLASS		55.00	55.0
1	FIRE HOOKS 30" PRO-BAR		225.00	225.00
1	FIRE HOOKS K-TOOL KIT		145.00	145.00
1	FIRE HOOKS 6' MULTI-PURPOSE HOOK WITH D-HA	ANDLE	120.00	120.00
1	FIRE HOOKS 6' BOSTON RAKE WITH D HANDLE		120.00	120.00
1	FIRE HOOKS 40" W/D HANDLE CLOSET HOOK		80.00	80.0
2	FIRE HOOKS-CONNECTION MALLET 2 LBS		19.00	38.0
1	AMEREX-20# ABC EXT W/WB		148.00	148.00
			Total	

FIRE TECH & SAFETY OF NEW ENGLAND, INC. 90 Progress Avenue Tyngsborough, MA 01879 1-800-256-8700 Fax (978) 649-6833

Quote

Date	Quote #	
5/4/2017	4638	

Name / Address

SAUGUS FIRE DEPT-MA FIRE HEADQUARTERS 27 HAMILTON STREET SAUGUS, MA 01906



		Project	Terms	Rep
			MA BID_FIR 04	кк
Qty	Description		Unit Price	Total
1 1 1 1 1 5 10 5 5 1 1	AMEREX-15# CO2 EXTINGUISHER H&H AMEREX-2 1/2 GAL WATER EXTINGUISHER MISCELLANEOUS MOUNTING BRACKETS FIRE HOOKS-EXTINGUISHER SHOULDER STRAP TASK FORCE BLITZFIRE HE MONITOR TASK FORCE MASTER NOZZLE W/HALO, AUTOMA TASK FORCE FOAM EDUCTOR 95 GPM W/ 1 1/2" N SCOTT AIR PAK 4.5 X3 WITH CGA AND PASS SCOTT-CARBON CYL.& VALVE 4500 30 MIN SCOTT EPIC 3 VOICE AMPLIFIER SCOTT AV3000 HT W/BRACKET, MEDIUM KOCHEK HYDRANT ASSIST VALVE 4" STZ X 4" STZ SHIPPING AND HANDLING INCLUDED IN PRICE	.S.Ť. INLET & O	285.00 120.00 1,000.00 26.00 2,900.00 1,195.00 676.00 4,875.00 861.00 295.00 1,695.00 0.00	120.00 1,000.00 26.00 2,900.00 1,195.00 676.00 24,375.00 8,610.00 2,425.00 1,475.00 1,695.00
Total			\$67,822.00	